S b Nudge bar
Fitting Instructions
u ax*r EME outback/Liberty -10 on

May\ufac’rurers of Subaru Accessories NB SP'04 6
NBSP-047

1/ Open Bonnet.

2/ Remove the original plastic bumper cover with grill.

3/ Remove plastic air dam. (remove front sump guard bolts)

4/ Dislodge steel reinforcement bar enough to fit nudge bar brackets in front
of this bar. Refit both reinforcing bar and brackets using the supplied longer
bolts and tighten.

5/ Optional: For a better fit, frim plastic sections around nudge bar steel
mounts as indicted in photo.

6/ Replace air dam and sump guard bolts.

7/ Carefully refit the original plastic bumper cover, it is best to place

masking tape on bumper cover where the steel brackets protrude

through, to avoid scratching the bumper cover.

8/ Loosely bolt alloy bar (mounting lugs outboard of the steel brackets) to the
vehicle using supplied 4 x M12 bolts, lock nuts & washers.

9/ Align as required and tighten bolts.

Components
1 - Aluminium Bar

2 - Steel mounting
brackets

1 - Fitting instruction
4 - M12 x 35 Bolts

4 - M12 Nyloc Nuts
4 - M12 Washers

6 - M8 x 30 Bolts

6 - M8 Washers

Optional: Trim both sides of
air dam for better fit.

Rev2 Sept 2014



